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QUESTION 1

Which requirement is fulfilled by dynamic management of services during the execution in SOA?
A. Meeting Service Level Agreements (SLAs) for Gold customers

B. Assigning premiere customers to the Gold customer status

C. Identifying an incoming request as coming from a Gold customer

D. Changing a business process to provide enhanced capabilities for Gold customers

Correct Answer: A

QUESTION 2

Which factor could positively impact the readiness for and success of SOA?

A. A high level of understanding of the value of SOA

B. The use of specialized line of business applications

C. Informal build and deployment processes for services

D. The use of in-house developed messaging as part of their Enterprise Service Bus (ESB)

Correct Answer: A

QUESTION 3

Which technique improves a business process?

A. Perform analysis of the resources being used by the process

B. Simulation of the process to identify and test improvements

C. Domain decomposition to identify the correct granularity of tasks

D. Monitoring availability of components that are used by the business process

Correct Answer: B

QUESTION 4
When is an SOA implementation most appropriate?
A. Real-time performance is critical.

B. An immediate Return on Investment (ROI) is required.
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C. The application interfaces require a high degree of customization.
D. Business functionality is required by many parts of the organization.

Correct Answer: D

QUESTION 5

In the IBM SOA Reference Architecture, the service registry should be logically located with
which other component?

A. Access Services

B. Process Services

C. Infrastructure Services

D. Enterprise Service Bus (ESB)

Correct Answer: D
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